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QUESTION 1

When importing processes, what are two supported import formats in TIBCO Business Studio? (Choose two.) 

A. BST 

B. Archive 

C. XFR 

D. MAA 

Correct Answer: AC 

 

QUESTION 2

Which statement is true about using participants to create tasks? 

A. It can be done by dragging a participant to a blank area of the process canvas. 

B. Only one participant at a time can be used to create a task. 

C. A participant can be used to create any type of task. 

D. It can be done using a right-click menu option in Project Explorer. 

Correct Answer: A 

 

QUESTION 3

What are two valid ways to define a participant? (Choose two.) 

A. As an external reference to an Organization Model 

B. As an Organization Model query 

C. As a Business Object Model query 

D. As an external reference to a Business Object Model 

Correct Answer: AB 

 

QUESTION 4

Which three gadgets are provided with Openspace? (Choose three.) 

A. Process Instances Measures 

B. Business Services Measures 
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C. Spotfire 

D. Calendar 

E. Business Object Viewer 

Correct Answer: ACD 

 

 

QUESTION 5

Which three Resource Patterns are used in a process to control how work is assigned to users? (Choose three.) 

A. Chained Execution 

B. Retain Familiar 

C. Piling 

D. Load Balancing 

E. External Reference 

Correct Answer: ABC 

 

 

QUESTION 6

Click the Exhibit button. 

At some point in a process, one Catch Timer Intermediate Event, two Catch Message Intermediate Events, and one
Catch Signal Intermediate Event are generated in parallel. Whichever event is satisfied first should be processed and
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the other three should be withdrawn. 

Which pattern can satisfy this requirement? 

A. Place all four events after an Exclusive Decision / Merge (XOR) Event Based Gateway, with no signal throwing
needed 

B. Link the output from all four events into a Script task, which contains a jumpto command to withdraw the remaining
events 

C. Place a Catch Signal Event on the boundary of all four events, whichever completes first throws a signal to the
others 

D. Link the output from all four events into a Complex Decision / Merge Gateway, configured to proceed when the first
input arrives 

Correct Answer: A 

 

 

QUESTION 7

In TIB CO Openspace, the process Instance State buttons are used to display the status of process instances for a
process template. Match each Process Instance State button with its description. 

Select and Place: 

Correct Answer: 
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QUESTION 8

From which two places in TIBCO Business Studio can you directly deploy a DAA to the ActiveMatrix BPM server node?
(Select two.) 

A. Deployment server 

B. Administrator Explorer 

C. Outline Explorer 

D. Project Explorer 

Correct Answer: AB 

 

QUESTION 9

Click the Exhibit button. 
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In the Organization Model shown in the graphic, the Operations Account Opening Team must be able to reallocate work
to other resources. Privilege opReallocateWorkPrivilege has been created. The System task "Work Item Allocation"
exists at both Organization Unit and Organization Model levels. 

What must be done to make it possible for the team to reallocate work to other resources? (Choose two.) 

A. The privilege must be assigned to the Organization Unit. 

B. The privilege must be associated with the System task for this Organization Unit. 

C. The privilege must be associated with the System task for the Organization Model. 

D. The privilege must be assigned to the Organization Model. 

Correct Answer: AB 

 

 

QUESTION 10

Which two statements are true when a process instance is suspended? (Choose two.) 

A. If a work item is already open, it cannot be cancelled, closed or submitted 

B. All related work items can be worked on (i e. opened, allocated, re-offered, or cancelled). 

C. The process instance list is not automatically refreshed to update the instance status. 

D. All work items that are associated with that process instance will become suspended 

E. All work items that are associated with that process instance are hidden in the work item list. 

Correct Answer: DE 
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QUESTION 11

During testing of a process, the process instance is released from User Task A but has not arrived at its expected
destination at User Task B. 

Which three actions can you take to help identify the problem? (Choose three.) 

A. Examine the ActiveMatrix BPM node log file(s) 

B. Check the Event View for that process instance, to identify what routing has been followed Insert a MessageBox
display function in the Initiate script for User Task B 

C. Check for failures in any Service tasks in the process between User Tasks A and B 

D. Check whether User Task B has been set to "skipable" in the TIBCO Business Studio Model 

Correct Answer: ABD 

 

 

QUESTION 12

What happens when a BPM application is uploaded to the ActiveMatrix Administrator? (Choose two.) 

A. A new DAA file is created in the ActiveMatrix Administrator to represent the current version of the BPM application. 

B. The BPM application is uploaded into the Application Templates maintained by the ActiveMatrix Administrator. 

C. The BPM application is ready for deployment to the runtime using the ActiveMatrix Administrator. 

D. The BPM application is ready for distribution to the nodes within an environment defined using the ActiveMatrix
Administrator. 

Correct Answer: BD 
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